1wTt*

Tol q —

M6x50 M6 M6x50 M6x20 2 wT. 1wTt*
2WT. 2WT. 8wt 24 wr

NHCTpyKuMa No cOOpKe KpoBaTH

Milano \%

4 T, 4 Wwr. 8 wr.

* Mpu wnpuHe kposaTtnm 120 1 6onbLue. Mpu WrpUHe MeHblue 120 B KOMMNAEKT He BXOAMWT.

www.sonum.ru

M6x50 2 wr.
LLlali6a M6 2 wr.

M6x20







	Страница 1
	Страница 2

